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2w B 5927 " oynb 9aR — But if he threw the object (from a
""77 to a 71 passing through a 7"77 higher than 10 2°15v
everyone (X2°p¥ °27 and the 0°220m) agrees that he is 21w,

Overview

One of the M7 of AR¥IT NIXRON is VWM. VWM is the act of passing an
object from one "717 to an adjacent >"777, when both °"177 are on the same side
of a 7"77, and the space between the two "7 is a 7", For example two
adjacent porches - that are not touching each other - that protrude over the
street, and the space between them is over a 7"71.

The v*w 7970 was in the 19wn.” There were four wagons that were used to
transport the 2°w p of the 1own. These four wagons, when they were to be
loaded by the 0°»%, were in the 2" in a specific manner. The wagons faced
the flow of traffic, two wagons on the left side of the street one in front of
the other in the direction of traffic, and the other two parallel to them on
their right also facing the direction of traffic one in front of the other. Like
two double parked cars.

The 0% picked up the o>w1p from the 1", were they were lying behind
the wagons, and placed them first on the rear wagon(s), the one(s) closest to
them. (This is where we find 170137 in the 12wn, the 0% picking up the owp
from the 7"77 and placing them on the wagons, which is a *"777. Each wagon
was 10 o'oY high and more than 2nov '7 % '7 in area, which renders it a
M)

Once the rear wagon was loaded, the 0% loaded the front wagon from the
rear wagon, passing the 2°w7p from the rear wagon to the wagon in front of
it. The 2w were never passed to the wagon parallel to it, only to the one in
front. The w1 p were always passed hand to hand from one wagon to the
next, never thrown.® Each wagon as mentioned was a *"117, and when the "
passed the board from one wagon to the one in front he passed it from a >"717
to a>"77 over a 1"77, which is the small area between the wagons.

The X723 discusses whether throwing 2"77 777 °"77% °"79n P is also 2m,
because we learn it out from w1, or it is M., because in the 19wn there
was only U1 and not P37, and 72997 X7 WWAR PI.

" There is a gloss (from a commentary) that this 1901 belongs on 'a Twy 1 q7.

% See LW N7 N 20N that by Nx¥IN NONON even the M TOIN have to be in the Yown.

? Either not to break them % 171 2,7 >w, or because they were to heavy Tow 1T X138 M, etc.
* See NDPY 22797 N1 N, TOM



Our nmooin will discuss what i1s the 77 if the act of v over the "0
occurred at a height of less than 10 2°rou high from the street level’. In the
1Pwn the act of vwwm was above 10 2°mdu high, because the wagons
themselves were 10 o°19v high. The question is, do we learn out a v27 that
1s less than 10 2’19v high, from the jown where it was above 10 219w high,
and he is 217, or do we say, that we do not learn it out and he is 72.

MvoIN attempts to resolve this question, by analyzing the words of the X132
in the inquiry of X217 as to the nature of the np>nn between ¥ and the
o°non, when one is y¥ARa "7 "R " P According to the first
version Y"1 and the omdn argue only “»n 7vnb, but " n%ynh the R
concludes that L2 P 71927 X7 ¥"271 WD 977 12T.

mooIn says that seemingly the Xn3 could have just as well concluded that
VWA PO 110977 270 9077 2127 1 1791, so we must say that the reason why
the X3 concludes that vwnn pAIT 1199 K27 MW ¥"3, is® because if 3179 ¥
vwwan p1, why then do the 2nom hold that Mo “n awnb, "n quab P

should be 217 just as wwA is "» nvn? 2n. Therefore we must say that ¥">
VWM P 119997 K97 °120, and therefore Mo T

This explanation of the conclusion of the X773 is valid only if we hold v
“n mun? 20, however if we hold that » 7vn% MWD VW, then the question
still remains why didn’t the X713 conclude wwInn pAIT 12%9%° ¥"57, since then
there would be no problem why the 0°non don’t learn out VA2 VWWAN PN
“n, because "1 UL VD VWIA.

MBoIN rebuts this reasoning, saying there is a reason why the X713, concludes
Mo 1"7 "1 avn? HaR, which has nothing to do whether wwa is 21 or WD
" nb, namely that there is a 71wn that states clearly that p7is 77vn% 1w0o
“n, so therefore it is obvious, why the X713 cannot conclude that "“»n 5vn5
everyone holds that 217 P77, in contradiction to the mwn.

mMoon then continues to bolster his refutation of this proof, based on the idea
that v’ is only 21, when the two "7 are NAR Xv173, adjacent to one
another on the same side of the 1"77, and not when they are 7 7113 7, on
opposite sides of the street, thereby nullifying the proof, because even if
1 710M? 21 v, the X3 could still have concluded 27m 7"7 ™ 7%91? %R

VIWIAN P77 11°99°7, in a case of NNX Xv1*7 and the np1onn between V' and the
DD 1S 17 721D 112,

X2 nxp mo1TY W — We can partially prove from this statement

> See “Thinking it over’ #3 at the end of the mavin.
% See “Thinking it over’ #2 at the end.



i munb ol avn wwnT — that one who is v from a "1 to a "0
through a 7"717, less than 10 2°19v high from the floor of the 7"717, is 2%7.
27wD %1 X3 axT - for if you will say that he is 21ws,

b WMWY owRa ER X5 — because we do not find in the jown, a
case of vwwn less than 10 oorov,

Then there is a difficulty, namely,

12 aR7T — for if this is so that vwn is "» unb Mo,

29977 9257 927 n hynb DaR N9 XY — the X3 should have said here that
if however the object was thrown above 10 2’150, everyone says that he is
2%,

VIR PIT 395957 — because we learn the case of P17 throwing an object
from a >"117 to a °"111 through a "»n 79¥1% 1" from W, that just like LW is
21 higher than o°19v " so is P17, and what compels the X723 to say that 2571 °127 " 72yn°?

7w, when it could have said 2°°11 95771 *127 “n 7991, and nothing would be affected. This
is a good question if we would assume that w2 is ™n R MWD,

" U 291 wrRT a0y 2R — however if we are now willing to assume
what mpon is setting out to prove, namely that w22 is 2997 even » qunb,
we can well understand why the X3 concludes w11 P 19070 K7 MWD 7"7 "1 "N,
because if vw is "n qunb 27n,

2n b sx» XY 1N — then it is well understood that the X123 cannot say

217 H277 9127 " abynb — that P77 higher than 10 2915w , everyone says
that the P17 1s 2997, because we learn out P77 from v WwIn,

P97 WD KPP ORM 92 unb 39 arT - for if the foregoing is true that we learn
out P77 from VWA in a case of higher than 10 215w, that he is 211, what is
the reason that the 0% say that a » 7vn% "7 777 °"77% "7 P is s,
he should be 2»n even if they do not hold of 7P, he should be 2»n by "» fqvn? P
because we learn it out from v, just as we learn it out "“»n 791, Therefore the X3
must conclude vwwn P 107 K77 MWD "7 “n A9Yn? 98, so we understand why the
o°non say that “» 7un? P is MWD, even though VW is “n VN 21, because the o°nMonN
(and v") hold that we do not learn out ©>w17 P71 neither » 70MR? nor “» T2vAY.

mdoIn continues to say and explain himself, why he said that we can (only) partially
prove it, when now it seems like a conclusive proof.

737 MR 19 — however it is not a conclusive proof that vwn is nun? 270
",

WINPT PRI D' BT b vxn K97 — for the X1 could not have said
that everyone holds that we learn out 2917 from wsw»,

This question, “why the X713 did not actually say this”, formed the basis of 500 proof,
but there is another explanation why the X713 chose not to say it,

(x0x) PT72 P9 307 X7 32 anT — for if the X3 would say so, we would
have another difficulty, from that which learnt in a 73w in P97 P73,

"nnR R©T2 3R 1" — “if both porches were in the same side” of the
7",



'35 W MU P — “one that throws it from one porch to the other
passing over the 71" is 71ws, but the one who passes it from one porch to
the other is 291",

VIR P B0 RY RMBR — so we see that this 7awn ano holds that we do
not learn out wWYAR P97, so if the X3 here were to conclude 2°11 "7 " 77vn% 9aR
VWA P 077, then the question would arise

79990 IXBR — according to whom would the 71w7» in 7177 be correct, since
we would have said here, that everyone agrees that we learn out vwn P71, that would
be in direct contradiction to the 71wn in P71 which holds clearly that we do not learn out
VXN 2T,

In conclusion: the reason why the XX did not say P17 1999°7 21 7"7 "n 7%yn% Hax
VWINY, is not because we are concerned why then do the 2°»dm hold that "“»n nvn? he is
7o (when they should have said that he is 21, since we are learning out Vw1 PI),
thereby proving the v*w is " 7un? 2, for in reality we can hold that v is 7un? MWV
“n, and the reason the X3 did not say 21 a7 “n 7%vn? 92K is because it would be in
direct contradiction to 73w in P77 that holds v wian AT 13999 RY.

y7n — I will prove it to you so you will kKnow that the reason the X3 did not say
21 "7 n 79vnY 9aR, has nothing to do whether ©w1n is » vn? 21 or not,

"9 TR 29977 WIRINT K101 91 90 KT - for even if we would say that wwn
is "9 munb avn,

VIR T J9DD NP RD1DDT 19mb 3xn N7 - the Xna still could have said
that everyone agrees that we learn out ww»» P97, and there would be no
problem why the 2°»211 hold that "™ fvn? is w9, since we learn out v P71, he should
be 211, this is no question because in truth -

nnR Xw17a1 — and were the npY?mn to be talking about the two °"i71 being on
the same side of the 1", then the 77 would be (even) according to the o°nman

" mTownb 2 s qunb 12 — whether it passed over the 7"71 below 10 oondw
or above 10 onoy, in either case

217 211 27 — everyone would agree that he is 2991, because we are learning
out L WIMM PIT, so why do the o°»on argue and say that he is 7105?

T 7313 972 "% unb avhoy — and they argue below 10 2°m5w in a case where
the two "7 were not adjacent to each other, but one opposite the other, in
such a case we can not say to learn out v>’wn P17, because VW itself is only X072 21
nnR and not 7 A1 172,

AT MR SRD TLYPR 119K 720 »T — That one master — X2°pY 271 — holds
that we say 7 ammw s 7uop and he is 2917 because of '':7% IRXN
2",

399K K% =920 921 — and the other masters - the 2°non — hold that we do
not say °»n7 annaw n3 nn2p, and therefore he is Mo,

We see that even if we hold that »win is "n 7un? 21, we still would have been able to
say LR P %997 21 1"'7, and there would be no problem for the np12mn would be in
a case of 1 7210 11, where vwwmn itself is 7D, and therefore the °non can hold that P77



7" 777 2" "0 is o, because the do not hold of 7vY9p and PN VWA are both
1 7vn? MWD in a case of 7 731D 7.

If so, why then did the X3 have to say L WInn PIT 110070 KT MWD 77 "1 759n% 22X, when
we could have said just as well that L wvan P 1399977 9577 177,

WINPT 9800 KDY RPIDDT a0 3 XDT R9X — but the X123 could not

have said that everyone agrees that we learn out w@%% 9%, because even
though we would not have the problem of " fvn? P11 as explained above, nevertheless
he does not say Wwwn pT 0%,

PIT "Sinn 2w — because of the mawn in P97 that states clearly that I
7"77 777 0" 2"an s WY, so how can we say here that everybody agrees that P is
VWINPT DT 200,

717032 wApIw 8% — and according to what we will shortly explain’

577 ¥P3 K97 7w 21 'nX — there is also another good reason that the X3
does not say it in this manner, i.e. that vwn P77 110977 20 7"7 " 72wR5.

Summary
') began to prove that “n 7vn% 2»n VW from the fact that the X7ma

concluded v wnn PAT 11099 KT MWD 1"7 "1 APYNnY HaR, instead of saying 2R
VWYAN T D97 20 "7 " 19YnY, because if we would say the latter we
would have the problem why the 2°n217 say Mwo.

'01n concludes that in reality we would have no problem if we would say
21 7"7 “n a%9nY, because the nponn is 7 7310 72, and therefore the real
reason why the X3 does not say 21 73"7 " 177917, is not to contradict the
mwn in P17, that states clearly that Mws P,

From the (n">1 2™ naw ™) 0"ann P when he is discussing the 211 of
W, where he says 1" MK THYRh VW 12°0R1", and from the ¥"Ww PwS
(> 7°vo W o) 1"nTR, where he states concerning the 2117 of vwn that 5"yx"
"Twyn n°ynt XN, it seems that they hold 21 v wIn n nuns.

Thinking it Over

1. m»poIn begins by saying, we can partially prove that "» 7un? 21 LW,
later mMpoIN refutes his proof. What was '01n thinking in the beginning; if he
knew of the refutation, then there is no proof at all, and if not, why is it only
a partial proof?

2. '01n bases his proof on the issue why the X723 said Mo “n 179vn%, when it
could have said 2n "» 7%9nY; granted the X3 could have said either one,
but it chose one, so what is the ‘Proof’?

T nNT nrTIm



3.'01n is discussing whether "» fvn% v is 21 or Mo, How is it possible
to be a " vAY VWA, since you are in a "7 which by definition has walls or
a height of 10 o’rov (like the wagons in the 9wn), so when you extend your
hand from the *"717, you are automatically "» 79vn%?

4. In '"on refutation of the proof there are two parts: one begins 71’ 1772
017, (because of the 7wn in PA717) and later 'on says vn, (because of 7
17 7210). Hoe does one distinguish between these two aspects of '0In
refutation?



